
 
PHYSICAL SCIENCE                                                      SET-02                                                                       CLASS-10 

SLIP TEST- 5 
 

Name:…………………………….……….. Section:………… Roll No:………....             Max.Marks:20 
…………………………………………………………………………………………………………………….. 
I.             2 x 4 = 8 
1) 
2) 

II.            2 x 2 = 4 
3) 
4) 

III.  2 x 1 = 2 
5) . 
6) “A”  “B”  

 
IV.          6 x 1 = 6 
7)                                                           [ ]           

    A. 1.0003      B. 1.31       C. 1.44      D. 2.42  
8)       [ ]                                  

    A.     B.   

    C.           D.  
9)          [ ]            
    A.     B.  
    C.      D.  
10)            [ ] 

    A. n1. Sin i  = n2. Sin r     B. n2. Sin i  = n1. Sin r 
    C. ௡భ

௡మ
 = ௌ௜௡	௜

ௌ௜௡	௥
     D. ௡మ

௡భ
 = ௌ௜௡	௥

ௌ௜௡	௜
 

11)          [ ]          
    A. 2 x 108 m/s     B. 3 x 108 m/s      
    C. 1 x 108 m/s     D. 3 x 105 m/s 
12)  = …………………………………….                      [ ]                                                                            

     A. 
Ħాǯ	İ�Ķ¸ũ	మందం

Ħాǯ	İ�Ķ¸ũ	మందంାǵల¡వ­	ȇȎాš పనమ�
     B. 

Ħాǯ	İ�Ķ¸ũ	మందంାǵల¡వ­	ȇȎాš పనమ�

Ħాǯ	İ�Ķ¸ũ	మందం
     

   
     C. 

Ħాǯ	İ�Ķ¸ũ	మందం

Ħాǯ	İ�Ķ¸ũ	మందంିǵల¡వ­	ȇȎాš పనమ�
    D. 

Ħాǯ	İ�Ķ¸ũ	మందంିǵల¡వ­	ȇȎాš పనమ�

Ħాǯ	İ�Ķ¸ũ	మందం
     

 
NAGA MURTHY- 9441786635   
Contact at :   nagamurthysir@gmail.com    
Visit at :    ignitephysics.weebly.com 
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